EARAROBEEIERT — 2 N— IBISH —F

2013538248 (B) 19@AFH1H

SR —# C2FEKXN (w8 | mEmml - |5 5 o s

[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

s . BT 128. -1- . — EH#H=- (KH)
1 sl LRy a—x i 6 7 1(2_8)4 1-1-1 | 39.2 2 (5_010) il
LA xeL I Bk b a—F— P95 BER
S T = 4 o4 | BEY 1:28.7 8-8-8 [37.9| — 4 477 | SEFHBRBL (/\HK)
2/5|8 T —KECT 56.0 (11/2) (+4) REEE
R:TwSINEry b BiALT—FIRT + 27— RS
N panlji:E= : -0 - MEME (KH)

3111V bE Y- it 4 o 1.(229>.1 2-2-2 | 39.6 12 <4+636) il

L= NTFy R BV FAI I R =EH%E
e = —i s > 5 | BIBNS 1:29.2 4-4-3 39.3| — 3 468 | BRA—R (KH)

4 AT 77| 5.0 R Ly |WEAR
R:7V—->770-X B:3vYCTS5SUFR D B
E/N 4 5 | AMBEEK 1:29.2 9-9-9 38.0| — 7 473 | REME (KH)

5 56.0 (/\j—) (-1) SHRARER
L:TAVHLRZ B:S14XFTE2AK BIN77— L4
== = - 5 | EBAH 1:29.4 3-3-4 |39.5| — 5 485 | SEILUBSIE (4viA)

6 T2 /Ty —F i 54.0 (1 1/4) 1) KIFFBR
RiA—FINhT B:vALIA—K T KT —L

co gen e ILIAER AT : -13- — ZfREEEZ (KH)

7 4B LH R —o i o8 i 1(.12/92.>5 10-13-11 | 37.6 14 (4_637) LRa
RV by THY BNATLEREY R RES

. 6 | BEFRE 1:29.5 10-10-10 [38.1| — 11 470 | BOBEZ (KH)

8l712| ARET T4 & " 56.0 (NF) (-4) K-

A=A x4 B:vAxd—Y v X EviLy RTr7—L

oA B4 | EWEER 1:29.6 7-7-7 [ 39.0| — 1 463 | RERE= (XH)
98|13 /¥ =7+ 54.0 (1/2) @) | EEMEX

RTANET Yy BZyARTa)vy hEHIS

—p s, — 4 o4 | BEEE 1:29.7 5-5-5 |39.4| — | 13 | 445 |ZREFME (K3H)

1l g| TENY =R 56.0 (1/2) 1) | B itHs
R:VZRE4—3IZ24— B:AH-FrO-X pui e}

A s 4 | KEEZ 1:29.9 14-14-13 37,7 — 6 432 | EBIRE (K¥H)

11 3 a—-L> &% — 54.0 (1) (-4) HETR
RA—JNHh7x B:HATILEa "E ®’R
- 5.8 =8 A : 12— — dEHE ()

1o ol ¥ =271 it 4 o 1.(340).8 13-12-12 | 38.9 8 (:?2) %#iaﬂ
R:xvTT7oR714—7T B:UaiXhML PR e

2 4 5 | BHE 1:31.4 10-11-14 [39.6 | — 10 | 502 |=EFEH (KH)

138 14| IANIF FTF 56.0 @ Ly | KEES

LT aTFa =T BiUIJ/ILIRF AR RS
. s 4 | tEAEE 1:31.7 555 | 41.4| — 9 488 | BERIANE (KH)

1457 | Yy F ‘ 54.0 (1 1/2) (h17) | EEERBS
L:ZB8F1a—FTUNT1 BNALTxF iFizie

® 1—F—@EBIERL

13—7-—

23— — 4,1,5,2,(6,7),13,8,11,(9,12,14),10,3

Ja=5= 4,1,5,2,(6,7),13,8,11,12,14,10,9,3

43—+ — 4,1,2,5,(6,7),13,8,11,12,9,10,3,14

[ N5

B 4 410M 714K 4-8 500 e E 3-5 960M JEE 1-4-8 32,280

B B 4 170 1-4 4,480 e B B 2,070M 3EE 4-8-1 96,270/

8 210M 1-8 7,660 B & 4-8 1,440/
1 1,540 B H 4-8 2,850/

ABICOVWTRDTEEERROODE. TR LIV,




